hEOYIZANO=9INT=F YD
Closed Centre Power Chuck (Long Stroke)

N L series

2EDAMO—Y
Extra Long Jaw Stroke

RicT— I BiERIBIE
Flange work-pieces securely gripped

*CEXhm *CE correspondence

M <J#E Dimensional Drawings
w tL—YarEyFi15 Q
Serration pitch 1.5 R

tc

(A%

NLO4

oy B L3y F15 RENEERE Gripping Characteristic Graphs
EXRD) (S

W Serration pitch 1.5 N N
MARFREY ThY3a—ZAVBEEDBHDTT,
#With standard blank soft top jaw.

200

180
z
x 160 NL1
[0} v
O 140
o
]
£ 120 \L12

7
2 100
o
% - ) NL10
= 0 £ NLO8
B
'
8 NL0G
A £ NL04
= NLOB~NL18 20
~ /
0 1000 2000 3000 4000 5000

[E#5RE Speed : min

N N o 0 P P
max. min. max. min. max. min.

80 | 3M8 |12 |14 | 265|2045| 975/ 67518 | 3 | 23 |10 |25 | MIO
1048| 6M10 | 14 | 20 | 405 (34 |1375| 925|1015| 815| 31 |12 | 36 | MI6
1334| 6M12 |20 | 25| 481 (40 |2075(|11.75(131 |106 | 35 |14 | 36 | M20
1714| 6M16 | 18 | 30 | 544 (4635|295 |115 (161 |133 | 40 |16 | 36 | M20
1714| 6M16 |18 | 30 | 657 |56 (4275|1275 47 |17 | 50 |18 | 46 | M24
235 | 6M20 | 30 | 43 | 1105|9756 |4726(23256| 97 | 57 | 50 [265] 55 | M30

NLO4 | 110] 52| 60
NLOB | 165| 74 | 140
NLO8 |210| 85| 170
NL10 |254| 89 |220
NL12 | 304106 | 220
NL18 | 450 114 | 300

26 |27 | 55 - -
34 |35 | 72 |[M6X10[116
38 | 42 | 95 |M6X12|150
45 | 46 | 110 [M8x15]|190
50 | 54 | 129 |M8X15190
55 | 61 | 135 |M10x20|260

| oo o S| o e

F
6
5
5
5
6
6

MNLI8EF VUV NRFHRELDFITDT BEIIaELTETLIZT 0,
¥When using NL18, a special cylinder is required.

B {TiER Specifications xpEE/LREEREEDY TN 3—EEBUES. %Gripping dia./gripping range is with standard soft jaws.
fi R Grioong range 33112 (B5) F57I9A0—) SFEMRAAS) BABMNILES FERREEEE BELN:-H) MEE—XVN masyyy FERAHEN Egy7hva— EA/\-Kya—

%iocdzlecmcatmns Max.mm — Jaw svﬂ(]er(rdjameter) Plungfnr rEtroke Max. DrawkE?\rI PullForce Max. Grilp(p'i\rlwg Force Max:%?eed NetWaightvﬁthutnun Jaws Momingt .urfnigertia Matching Cylinder Max. ;?wrgassure Matching Softtop jaw Matching Hard top jaw
NLO4 | 110 9 12.1 15 10 144 5000 4.1 0.008 |YO715R/REQ1C 29 SJ04B1 -
NLOB | 165 21 13 20 21 39 4300 12 0.045 | Y1020R/RE47 3.0 SJO6B1 | HBOGB1
NLO8 [210 21 16.2 25 30 60 3600 229 0.138 | Y1225R/RE47 29 SJ08B1 | HBOBA1
NL10 (254 24 18.1 28 40 81 3100 34.6 0.300 | Y1530R/RE47 28 SJ10A1 | HB10A1
NL12 304 29 194 30 54 111 2500 60 0.725 | Y1530R/RE47 3.6 SJ12A1 | HB12B1
NL18 |450 122 26 40 91 186 2100 124 2.35 Y2036RE4T 35 SJ16N1 -

@





